Notes Answers


Chapter 8 Financial Analysis and Strategy

Answer 1

(a) P/E ratio

The P/E ratio measures the relationship between the market price of a share and the earnings per share. Its calculation involves the use of the share price, which is a reflection of the market's expectations of the future earnings performance, and the historic level of earnings.
If Y has just suffered an abnormally bad year's profit performance which is not expected to be repeated, the market will price the share on the basis of its expected future earnings. The earnings figure used to calculate the ratio will be the historic figure which is lower than that forecast for the future, and therefore the ratio will appear high.
(b) Financial gearing

The financial gearing of the firm expresses the relationship between debt and equity in the capital structure. A high level of gearing means that there is a high ratio of debt to equity. This means that the company carries a high fixed interest charge, and therefore the amount of earnings available to equity will be more variable from year to year than in a company with a lower gearing level. Therefore, the shareholders will carry a higher level of risk than in a company with lower gearing.
All other things being equal, it is therefore likely that the share price in a highly geared company will be lower than that in a low geared firm.
The historic P/E ratio is dependent upon the current share price and the historic level of earnings. A high P/E ratio is therefore more likely to be found in a company with low gearing than in one with high gearing. In the case of Y, the high P/E ratio is more probably attributable to the depressed level of earnings than to the financial structure of the company.
(c) Comparison of ratios
The nominal value of the shares is irrelevant in calculating the ratios. This can be proved by calculating the effect on the ratios of a share split – the ratios will be unchanged. Therefore, if all other factors (such as accounting conventions used in the two firms) are equal, a direct comparison of the ratios is valid.
(d) Comparison with risk-free securities

As outlined in (c) above, the dividend yield is the relationship between the dividend per share and the current market price of the share. The market price of the share reflects investor expectations about the future level of earnings and growth. If the share is trading with a low dividend yield, this means that investors have positive growth expectations after taking into account the level of risk. Although the government bonds carry no risk, it is equally likely that they have no growth potential either, and this means that the share will still be more attractive even after the low dividend yield has been taken into account.
Answer 2
(a)
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[6 – 7 marks]
Achievement of corporate objectives

1.
JJG Co has shareholder wealth maximisation as an objective. The wealth of shareholders is increased by dividends received and capital gains on shares owned. Total shareholder return compares the sum of the dividend received and the capital gain with the opening share price.
2.
The shareholders of JJG Co had a return of 58% in 2008, compared with a return predicted by the capital asset pricing model of 14%. The lowest return shareholders have received was 21% and the highest return was 82%. On this basis, the shareholders of the company have experienced a significant increase in wealth.
3.
It is debatable whether this has been as a result of the actions of the company, however. Share prices may increase irrespective of the actions and decisions of managers, or even despite them. In fact, looking at the dividend per share history of the company, there was one year (2006) where dividends were constant, even though earnings per share increased. It is also difficult to know when wealth has been maximised.

[2 – 3 marks]
4.
Another objective of the company was to achieve a continuous increase in earnings per share. Analysis shows that earnings per share increased every year, with an average increase of 14·9%. This objective appears to have been achieved.

[2 – 3 marks]
Comment on financial performance

5.
Return on capital employed (ROCE) has been growing towards the sector average of 25% on a year-by-year basis from 22% in 2005. This steady growth in the primary accounting ratio can be contrasted with irregular growth in turnover, the reasons for which are unknown.
6.
Return on shareholders’ funds has been consistently higher than the average for the sector. This may be due more to the capital structure of JJG Co than to good performance by the company, however, in the sense that shareholders’ funds are smaller on a book value basis than the long-term debt capital. In every previous year but 2008 the gearing of the company was higher than the sector average.

[1 – 2 marks]
(b)

Calculation of theoretical ex rights per share

Current share price = $8·64 per share

Current number of shares = 5·5 million shares

Finance to be raised = $15m

Rights issue price = $7·50 per share

Number of shares issued = 15m/7·50 = 2 million shares

Theoretical ex rights price per share = ((5·5m x 8·64) + (2m x 7·50))/7·5m = $8·34 per share

The share price would fall from $8·64 to $8·34 per share

However, there would be no effect on shareholder wealth

[2 – 3 marks]
Effect of rights issue on earnings per share

Current EPS = 100 cents per share

Revised EPS = 100 x 5·5m/7·5m = 73 cents per share

The EPS would fall from 100 cents per share to 73 cents per share

However, as mentioned earlier, there would be no effect on shareholder wealth

[2 – 3 marks]
Effect of rights issue on the debt/equity ratio

Current debt/equity ratio = 100 x 20/47·5 = 42%

Revised market value of equity = 7·5m x 8·34 = $62·55 million

Revised debt/equity ratio = 100 x 20/62·55 = 32%

The debt/equity ratio would fall from 42% to 32%, which is well below the sector average value and would signal a reduction in financial risk

[1 – 2 marks]
(c)

The current debt/equity ratio of JJG Co is 42% (20/47·5). Although this is less than the sector average value of 50%, it is more useful from a financial risk perspective to look at the extent to which interest payments are covered by profits.
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1.
The interest on the bond issue is $1·6 million (8% of $20m), giving an interest coverage ratio of 6·1 times. If JJG Co has overdraft finance, the interest coverage ratio will be lower than this, but there is insufficient information to determine if an overdraft exists. The interest coverage ratio is not only below the sector average, it is also low enough to be a cause for concern. While the ratio shows an upward trend over the period under consideration, it still indicates that an issue of further debt would be unwise.

[1 – 2 marks]
2.
A placing, or any issue of new shares such as a rights issue or a public offer, would decrease gearing. If the expansion of business results in an increase in profit before interest and tax, the interest coverage ratio will increase and financial risk will fall. Given the current financial position of JJG Co, a decrease in financial risk is certainly preferable to an increase.
3.
A placing will dilute ownership and control, providing the new equity issue is taken up by new institutional shareholders, while a rights issue will not dilute ownership and control, providing existing shareholders take up their rights.


[2 – 3 marks]
4.
A bond issue does not have ownership and control implications, although restrictive or negative covenants in bond issue documents can limit the actions of a company and its managers.
All three financing choices are long-term sources of finance and so are appropriate for a long-term investment such as the proposed expansion of existing business.
5.
Equity issues such as a placing and a rights issue do not require security. No information is provided on the non-current assets of JJG Co, but it is likely that the existing bond issue is secured. If a new bond issue was being considered, JJG Co would need to consider whether it had sufficient non-current assets to offer as security, although it is likely that new non-current assets would be bought as part of the business expansion.


[2 – 3 marks]
A8-1

